ERIEAR G IR G TR

My 4 S| Z LS il My 4 S| 5 LS i

| ft—TH 379 365 424 789 RKFE-TH 358 376 360 736
ME_TH 310 309 356 665 XF_TH 230 238 231 469
HAE=TH 197 191 226 417 XF=TH 179 201 187 388
nE— 1T H 365 347 396 743 et 87 106 114 220
HWH_TH 445 450 487 937 BRI 285 345 375 720
BHE=TH 354 403 439 842 ANELT 95 126 127 253
T 557 648 695 1,343 | » AT 29 37 35 72
HYlx—TH 531 649 627| 1,276 & THT 151 208 217 425
HI5_TH 459 554 562| 1,116 M 809 974| 1,045 2,019
i = 416 466 490 956 AT 444 587 548| 1,135
HYlH—TH 217 209 231 440 HH—TH 314 326 353 679
iH_TH 247 233 253 486 FHEE-TH 879 971 981| 1,952
PH=TH 170 160 188 348 FFE=TH 430 485 529 1,014
HHMNTH 269 243 299 542 AEEMTH 634 594 677| 1,271
IEENE! 223 223 271 494 A AT 935 1,259| 1,232] 2,491
FEHT 422 401 432 833 A AT 102 123 136 259
FI—T8 211 280 286 566 SN NG 235 250 275 525
I —TH 394 450 535 985 SE Sl 14 13 20 33
“ 1 miE-—-TH 44 43 47 90 A ST 84 96| 107 203
M _TH 238 254 268 522 AR T 427 667 661 1,328
BRH=TH 322 322 316 638 RS ) 121 183 181 364
RN T A 363 383 432 815 JIFERT 1 1 1 2
SR T H 438 433 514 947 J1] T 597 650 740| 1,390
FEAFHT 8 4 9 13 [ %] dko—TH 292 262 294 556
i —T 8 311 390 420 810 ko _=-TH 37 40 50 90
WE_—TH 292 347 368 715 kO =TH 261 233 284 517
HmE=TH 321 412 441 853 e#—T1 8 402 284 347 631
FE—TH 268 266 301 567 t#Hm—TH 443 435 471 906
FH_TH 383 357 418 1750 | < | ®mil—TH 264 302 308 610
FE=TH 474 518 595 1,113 HJ)IZTH 322 403 407 810
FEIUTH 652 649 683| 1,332 B ASHT 476 529 524| 1,053
SEFERT 590 708 535 1,243 EES) 832| 1,008 950 1,958
g % R HT 892| 1,126| 1,135 2,261 BOSEHT 16 9 13 22
i 2E Y 363 560 566| 1,126] | — | EE—TH 713 789 779 1,568
*5 R ELHT 4,211| 5,375 5,249| 10, 624 E# _TH 640 721 771 1,492
K T 533 566 610| 1,176 ER=TH 452 490 551 1,041
REEHT 226 237 256 493 ERME T H 678 827 817| 1,644
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ERIEAR G IR G TR

My 4 S| 5 LS i MY 4 S| 5 LS i
- | EBETH 313 370 401 771 WOR—TH 242 251 276 527
EfATH 57 56 56 112 WR_TH 675 686 739| 1,425
EfETH 267 319 265 584 WR=TH 423 433 444 877
ERA\TH 675 845 807| 1,652 WHIMTH 351 374 433 807
/NI 744 937| 1,082| 2,019 WRETH 358 382 370 752
FEHT 263 273 307 580 [ FERT 234 347 346 693
b oiaslill 931 1,120] 1,125| 2,245 N SR 91 101 107 208
AN 246 315 318 633 7 T 445 565 587| 1,152
3 SERT 577 631 692 1,323 | 7T b T 179 206 204 410
TEHTIT 55 63 70 133 fFEE-TH 548 554 636 1,190
Er—TH 401 367 255 622 FEE_TH 401 421 456 877
i —TH 270 246 182 428 FEHE=ZTH 801 885 965 1,850
W =TH 200 208 198 406 EEFENTH 629 683 708] 1,391
R SR 633 611 728| 1,339 FEHEARTH 604 684 689 1,373
BT 11 10 12 22 A FHAHT 4 2 4 6
BE—TH 389 468 435 903 | ¥ O SFHT 127 160 169 329
HTH 587 773 886| 1,659 HENSF—TH 548 592 554| 1,146
H=TH 246 286 304 590 FNETH 182 191 213 404
HEMNTH 401 486 507 993 HENF=TH 594 643 704| 1,347
U smm-TH 349 326] 413|739 | T |  epmyRmr 4 1 4 5
W _TH 101 107 116 223 | RFnHT 256 287 290 577
BE=TH 483 501 541] 1,042 =) 2 3 2 5
BT H 721 732 886| 1,618 & AT 23 18 25 43
THRHE—T B 308 375 360 735 EE—T A 678 766 797 1,563
FEH_TH 454 481 501 982 EM_TH 537 639 657| 1,296
THRE=TH 271 280 312 592 EH=TH 151 167 194 361
AR T H 290 389 350 739 =Gl 47 68 67 135
THH_TH 623 700 717 1,417 £—TH 592 581 629 1,210
T4 JET 69 86 100 186 E_TH 560 549 603| 1,152
THEARET 200 202 207 409 ®H—TH 168 149 153 302
T HRIG RHT 255 337 365 702 ®H_TH 285 288 339 627
T T 1,033 918 1,146| 2,064 KA=TH 400 397 424 821
T /NS 265 345 330 675 HEEMTH 97 70 87 157
R SRHT 137 149 190 339 7 A AT 10 7 9 16
T HRET 287 431 442 873) | P | TH-TH 358 373 440 813
T If LT 232 317 340 657 TH_TH 128 141 153 294
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ERIEAR G IR G TR

My 4 S| 5 LS i MY 4 S| 5 LS i
S| TH=TH 438 501 525| 1,026 | 9|  sFE&HT 168 208 197 405
THEMNTH 459 528 558| 1,086 ST 159 181 186 367
THHETH 622 717 84| 1,521 |* | EmtR—TH 552 500 539 1,039
d—TH 182 167 195 362 BE+R_TH 586 578 680 1,258
e —TH 410 411 449 860 7 gkl 736 890 887| 1,777
R =TH 329 300 324 624 BT 110 134 127 261
HgeyTH 435 391 462 gs3| | 1% 3t 2 N T 676 847 772] 1,619
hR T TH 350 326 366 692 | = 4 FEHT 303 316 362 678
FAA SRR 365 463 475 938 HLON—TH 228 218 248 466
= BT 171 218 246 464 FLOWN_TH 593 561 602| 1,163
K AHET 424 408 441 849 FLOWN=TH 381 372 380 752
& LI ET 0 0 0 o | #| Ew-TH 386 360 380 740
HOGTFRT 203 246 234 480 EBK_TH 276 282 297 579
HOtF—TH 319 369 365 734 1) {77 T 26 21 24 45
WL TH 500 531 546| 1,077 BN E—TH 460 478 483 961
HF=TH 305 383 374 757 AR _TH 454 471 512 983
T —TH 398 419 424 843 EaAsil 250 284 332 616
1T _TH 363 376 351 727 B T 532 631 661 1,292
#1T=TH 213 230 220 450 R 421 435 370 805
AT T A 303 339 316 55| | T [ By 496 498 521 1,019
TR TH 332 400 381 781 b JuAt M 356 310 384 694
EM—TH 266 278 293 5711 | N | BE—TH 415 390 372 762
B _TH 368 407 424 831 BIE_TH 312 355 358 713
BV =TH 220 250 271 521 BE=TH 369 419 392 811
ET H 132 151 166 317 (L1 =T BT 2,559 3,195 3,348 6,543
& iy 157 on1]  199]  a10] |[¥| mm—TH 315| 354 383|737
AN 631 776 744| 1,520 BE_TH 394 418 480 898
/AR — T H 468 529 488| 1,017 ot — 1T H 289 299 338 637
Hh T 98 127 128 255 A TH 256 275 316 591
AT 524 486 540| 1,026 G =TH 833 860| 1,058 1,918
LRET 257 323 334 657| | & REAR BT 4217 451 485 936
- [l pAILD) 52 69 83 152 S YU 178 210 220 430
79 F4ehT 229 311 341 652 ER—TH 355 457 411 868
75 AT 472 552 567| 1,119 | P FEANET 300 298 342 640
7Y S G 274 316 315 631 i T 560 540 625 1,165
& DR 1,114| 1,143] 1,310| 2,453 FFHT 928| 1,124| 1,199 2,323
i 84, 461| 94, 275| 99, 011|193, 286
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